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& Az & 4 ouT IN [TOTAL| HDCP NET
B B HFE B 37 | 35 | 72 4 68
YEE /NE BR 41 | 37 78 10 68
3 fir IIA BB ] 42 | 38 | 80 10 70
4 fir AL BE— 37 | 39 | 76 5 71
5 fir B E= 38 | 42 | 80 9 71
B-G HFE B 37 | 35 | 72
TH HE—RAPIM AR & K
T — KT ADE

& Az & 4 ouT IN [TOTAL| HDCP NET
& B &P 38 | 40 78 13 65
HEMR RS ZMH &8 40 | 40 | 80 13 67
3 fir G N - 40 | 40 | 80 10 70
4 L | FREF BR—BER | 42 | 41 | 83 13 70
5 fir ‘B Fih 40 | 43 | 83 13 70
B-G o A 38 | 40 78

SRTETATH
& Az & 4 OUT | IN |TOTAL| HDCP NET
B B R R 41 | 43 84 20 64
YA TR /JINE TR 43 | 42 85 21 64
3 fi s PR 42 | 47 | 89 | 23 66
4 fir SFE B 46 | 45 | 91 22 69
5 fir KH BRHF 51 | 48 | 99 | 30 69
B-G FEME B 43 | 41 84
TH H%—APIM Bk B B F
T — I ADE

& Az & 4 OUT | IN |TOTAL| HDCP NET
B B RE R 38 | 42 | 80 18 62
HEB I Eh, 38 | 42 | 80 15 65
3 fir I BA 40 | 41 | 81 14 67
4 {ir WEE 2 | 41 | 43 | 84 17 67
5 fif ITik % 41 | 44 | 85 18 67
B:G g 38 | 42 | 80
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